
10

10

CONNECTOR
TERMINAL BLOCK 
WIRE CLAMP
TEST PIN 
FUSE HOLDER
P.C.B TERMINAL
GROUND TERMINAL
CLAMP
PLASTIC GEAR



◆ MATERIAL:PA 66 UL94V-2
◆ UNIT:mm

       
              

DNOTE:
  (Current):24A(VDE)
  (Voltage):600V
  (Working temp): 110C°
  (Wire Range): #12-22 AWG Solid conductor
  (Stripping Length): 11mm(0.43 inch)
  (Color): 
  (UL), (VDE), (Finko), (CE)

PART NO COLOR POLES PACKAGE
PC252      RED 2
PC253     ORANGE 3

500PC254     YELLOW 4
PC255     GRAY 5
PC258     BLACK 8 250

PC258

PC252 PC253

PC255

PC254

◆ MATERIAL:NYLON 66(UL)
◆ FLAME CLASS:94V-2
◆ COLOR:GRAY
◆ UNIT:㎜

      
 

UC-3 19.6 13.8  9.7 3X1.2~2㎜(d)
UC-5 19.3 21.9    10.1 5X1.2~2 ㎜(d)

380V,27A 10.0~13.0㎜

SUITABLE
ELECTRIC WIRE

THE HIGHTEST
VOLTAGE,CURRENT

LENGTH
STRIPPED WIREPART NO A B C

100

PACKAGE

     Ø2.5A.W.G     19.5

     4.5 PITCH
     17.2

    
 9

.5

     4.5 PITCH
     13.5

    
 9

.5
     Ø2.5A.W.G     19.5

     19

     17.5
     4.5 PITCH

     Ø2.5A.W.G

    
 1

6.
8

     4.5 PITCH
     10.5

    
 9

.5

     Ø2.5A.W.G     19.5

UC-3 UC-5

     A      B

    
 C

     A      B

    
 C

     4.5 PITCH
     21.1

     Ø2.5A.W.G     19.5

    
 9

.5

  PUSH-IN WIRE CONNECTOR

CABLE CONNECTOR

UL

UL

10-1

10



◆ HOUSING MATERIAL:PP
◆ METAL MATERIAL:COPPER
◆ FINISH:TIN PLATED
◆ UNIT:㎜       

AWG mm
3MR 22~18 1.25 19.5 10.6 8.2 13.5 3.9 0.8 RED
3MB 16~14 2.0 BLUE
3MY 12~10 5.5 20.0 20.0 11.1 15.0 4.8 0.9 YELLOW 200

COLOR PACKAGE

500

C D E FWIRE RANGEPART NO A B
2

A

B

F E

D

C

◆ HOUSING MATERIAL:NYLON 66 UL94V-2
◆ POLE:1~12 POLES
◆ WORKING TEMPERATURE:105℃
◆ PA7DS,PA9DS:WITH WIRE PROTECTOR
◆ APPROVED:UL、CSA、VDE、F、D、N、S...。
◆ COLOR:NATURAL

◆ H=底部加高1.2mm
◆ DS=加彈片
◆ F=平底型

PART NO
線徑

Amp
安培

Volt
電壓

Screw
螺絲

A B C D E POLES

PA
14.4PA7-DSH

1.5 17.5 M2.6X6 17.0    8.2 2.9 2.8PA7F-H
13.4PA7F-DSH

PA
16.7PA9-DSH

M3.0X7 20.2  10.0 3.6 5.0
1~12

PA9F-H

450V

16.0PA9F-DSH
PA12H-H

   6.0 41.0 M3.5X7 23.8 19.0
 12.2    3.9

   3.8PA12H-DS
500V

 12.0    3.6
PA14H-H

 10.0 57.0
M4.0X9

25.6 25.2  13.5    4.4    4.8PA14H-DS M4.0X7

mm2

500 V

7-H

9-H

2.5 24.0

WIRE  PROTECTORA FLAT  BASE  TYPE

PART NO
線徑

Amp
安培

Volt
電壓

Screw
螺絲

A B C D E POLES

23.016 76 M4.0X9 28.0 14.5 4.2 6.0

mm2

B

2.0-2.5mm

ØE

ØD C

A

PITCH

1~12PA16-H

(平底)
FLAT  BASE  TYPE

A

B

ØD C
PITCH

ØE

QUICK SPLICE

TERMINAL BLOCK

10-2

10



PART NO PACKAGE
TERBL-33 200

◆ MATERIAL:PBT(UL)
◆ FLAME CLASS :94V-0
◆ COLOR:BLACK
◆ UNIT:㎜

14

Ø1
0

Ø5
.5 33

Ø1
0.

332
.5

19

18

◆ MATERIAL: PC (UL)  
◆ FLAME CLASS:94V-0/94V-2
◆ COLOR:NATURAL
◆ UNIT:㎜

20

14
0

9.
8

24

15

8

48
48

15

PART NO PACKAGE
TERBL-6 50

PART NO A
    PA11-2P 17.3
    PA11-3P 27.5

    M3X7  A

   1
9

   6
.5

    10    Ø1.7

 12    3
.2

    2.8     7.2

TERMINAL BLOCK

 TERMINAL BLOCK

 TERMINAL BLOCK

◆ HOUSING MATERIAL:NYLON 66 (UL)94V-2
◆ WORKING TEMPERATURE:105℃
◆ COLOR:NATURAL

10-3

10



◆ MATERIAL:PP
◆ COLOR:ORANGE
◆ UNIT:㎜
◆ WITE SPRING INSRET

P1 15.2    8.6    6.5
P2 17.7    9.9    7.1
P3 22.0  12.4    9.8
P4 24.6  14.0  11.0 500#14X3

#18X3
#16X3

#18X2 #24X2 1000#16X3 #20X3

C PACKAGEMAX MIN
PART NO WIRE SIZE RANGE A B

◆ MATERIAL:PBT(UL)  94V-0
◆ COLOR:BLACK
◆ UNIT:㎜
◆ WITE SPRING INSRET

P1B 15.2      8.6 1000
P3B 22.0    12.7  500

PACKAGE
適用電線範圍

SUITABLE WIRES
A.W.G

PART NO A B 螺紋內徑
C

6.5
9.7

22-18
22-14

SPRING

A

BC

SPRING

A

C B

　　　 

      

◆ HOUSING MAT'L:NYLON 66 (UL)94V-2
◆ METAL MAT'L: TIN PLATED ALUMINUM /
                              TIN PLATED COPPER
◆ COLOR:NATURAL
◆ UNIT:mm
  

WIRE RANGE A B C D E PACKAGE
2.5    7.7 18.0

7.0
5.0

3.2    9.5 20.0 5.7
4.4   12.3 25.5 8.4 7.6

#22-16
#16-14
#12-10
#8 5.2  14.2 27.7 8.5 9.5 500

1000

PART NO
CE1
CE2
CE5
CE8

1.25
2

8
5.5

A B C D E PACKAGE
2.5    7.9 19.2 7.2 5.1
3.2    8.2 20.7 8.5 5.7
4.0   10.6 24.8 10.7 7.3
5.2  12.2 27.1 12.5 9.2 500

1000

ØE

ØA
ØB

   C
   D

ØE

   D
   C

ØA
ØB

WIRE RANGE
#22-16
#16-14
#12-10
#8

PART NO
C3
C4
C5
C8

1.25
2

8
5.5

 SCREW-ON CONNECTOR

CLOSE END CONNECTOR

10-4

10



◆ MEATL MAT'L:STEEL
◆ PLACTIC MAT'L:SOFT PVC/
                                  PVC TUBE(UL/CSA)
◆ COLOR:BLACK
◆ UNIT:㎜

PART NO A B C PACKAGE
WL3-32T    7.5 3.3 32.0
WL3-52T 52.0
WL3-60T    8.0 3.6 62.0
WL4-35T    8.5 4.2 35.0
WL4-50T    8.0 4.1 52.0
WL4-70T    7.5 4.2 74.5
WL4-78T    8.0 4.1 78.5
WL5-70T    8.4 5.1 60.0
WL6-78T  10.0 6.0 78.0

500

1000

      

ØBØA    C

PART NO PACKAGE
WLC-1 500

       

      

◆ METAL MATERIAL: STEEL  
◆ METAL FINISH: TIN PLATED
◆ PLASTIC MAT'L:POLYOLFEIN (UL) CSA/
                                 PVC (UL) CSA
◆ COLOR:BLACK
◆ UNIT:㎜

PART NO L A PACKAGE
WLD-30H 30.0 24.0
WLD-50H 50.0 47.0
WLD-30T 30.0 22.0
WLD-50T 50.0 45.0

1.5 HEAT SHIRNKING

1.93 PVC TUBE

B

1000

◆ METAL MATERIAL: STEEL  
◆ PLASTIC MAT'L:PVC  TUBE
◆ COLOR:BLACK
◆ UNIT:㎜

      

      

 

100

16 10
4.

5

2.7 1

MOUNTING  HOLE

2

t=0.5

3.5 B

A

L

2.
6

4
0.

97
◆ MEATL MAT'L:STEEL
◆ PLACTIC MAT'L:POLYOLEFIN(UL)

ØBØA    C

PART NO A B C PACKAGE

WL3-32H    7.5 3.3 32.0

WL3-52H 52.0
WL3-60H    8.0 3.6 62.0
WL4-35H    8.5 4.2 35.0
WL4-50H    8.0 4.1 52.0

WL4-70H    7.5 4.2 74.5
WL4-78H    8.0 4.1 78.5

WL6-78H  10.0 6.0 78.0

500

1000

WL4-90H    7.5 4.2 94.5

   7.5 3.2

WL4-56H    8.0 4.1 48.2

WL3-35H 29.9   5.6 3.5

WL3-12H    7.5 3.3 12.0

WIRE CLAMP

WIRE CLAMP

WIRE CLAMP

10-5

WL5-70H    8.4 5.1 60.0

   7.5 3.3

10



PART NO COLOR PACKAGE
紅(RED)
綠(GREEN)
藍(BLUE)

）黑(BLACK)
黃(YELLOW)

TEST-1（R）
TEST-1（GR）
TEST-1（BU）
TEST-1（BK
TEST-1（Y）
TEST-1（W）白(WHITE)

1000

      

◆ MATERIAL: PBT(UL)  
◆ FINISH:PHOSPHER BRONZE
                  GOLD PLATED
◆ UNIT:㎜

Ø3.5
0.35

Ø3.2

2

0.35

6.
3

6.
3

TEST-1
  P.C.B  Ø1.8~Ø1.0  

TEST PIN

◆ MATERIAL: PBT (UL)  
◆ FINISH:PHOSPHER BRONZE
                  GOLD PLATED
◆ UNIT:㎜

Ø3.1

3.
3

TEST-55N   P.C.B  Ø0.9~Ø1.0  

8.
8

Ø3.3

0.4 PART NO COLOR PACKAGE
紅(RED)
綠(GREEN)
藍(BLUE)
黑(BLACK)
黃(YELLOW)

TEST-55R
TEST-55GR
TEST-55BU
TEST-55BK
TEST-55Y
TEST-55W 白(WHITE)

1000

TEST PIN

PART NO COLOR PACKAGE
紅 (RED)
綠 (GREEN)

藍 (BLUE)
黑 (BLACK)
黃 (YELLOW)

TEST-7(   )
TEST-7(G)

TEST-7(BU)
TEST-7(BK)
TEST-7(Y)
TEST-7(W) 白 (WHITE)

1000

R

淺綠
(LIGHT GREEN)TEST-7(LG)

Ø2.6

4.
7

1.
80.35

TEST-7   P.C.B  Ø0.8~Ø1.0  

2.
2

◆ MATERIAL: PBT (UL)  
◆ FINISH:PHOSPHER BRONZE
                  GOLD PLATED
◆ UNIT:㎜

TEST PIN

      

PART NO PACKAGE
TEST-7CN 1000

◆ MATERIAL: SPRING  STEEL
                         NICKEL  PLATED  
◆ FINISH:GOLD  PLATED
◆ UNIT:㎜

CERAMIC

3.
1

Ø2.6

TEST PIN

10-6

10



◆ MATERIAL: GOLD PLATED 
◆ UNIT:㎜

COPPER 

PART NO PACKAGE
TEST-2 1000

      
3.4

2.5

10
.7

0.45

MOUNTING  HOLE
HOLE  IN  P.C.B  Ø0.8~Ø1.0

◆ MATERIAL: GOLD PLATED 
◆ UNIT:㎜

COPPER 

PART NO PACKAGE
TEST-3 1000

      

6.
7

HOLE  IN  P.C.B  Ø0.8~Ø1.0

0.35

Ø2.7

TEST PIN

TEST PIN

◆ MATERIAL: GOLD PLATED 
◆ UNIT:㎜

COPPER 

PART NO A B PACKAGE
TEST-4 14.0  11.0 1000
TEST-5 10.0    7.0 2000

      

Ø1
.8

Ø0
.9

5
Ø2

A
B

HOLE  IN  P.C.B  Ø0.95

TEST PIN

              

              
◆ MATERIAL: PBT (UL)  
◆ FINISH:PHOSPHER BRONZE
                  TIN PLATED
◆ UNIT:㎜

3

0.35

5.
9

Ø2.6Ø2.7

6.
5

TEST-87A P.C.B  Ø1.5

PART NO COLOR PACKAGE

(RED)
(GREEN)
(BLUE)
(BLACK)
(YELLOW)

TEST-87 R
TEST-87GR
TEST-87BU
TEST-87BK
TEST-87Y
TEST-87W (WHITE)

1000

(NATURAL)TEST-87
(   )

TEST  PIN

10-7

10



PART NO PACKAGE
TEST-8 2000

◆ MATERIAL: GOLD PLATED 
◆ UNIT:㎜

COPPER 

      

Ø2
.5

Ø2
.2

Ø1
.4

31.1

0.55

9.5
12.45
13

HOLE  IN  P.C.B  Ø1.0

TEST PIN

◆ MATERIAL:NICKEL  PLATED 
◆ UNIT:㎜

COPPER 

PART NO PACKAGE
TEST-6 2000Ø2

.4

Ø1
.3 Ø1

.9

4.8
6.9

HOLE  IN  P.C.B  Ø2.0

      

TEST PIN

      

PART NO PACKAGE
TEST-9 2000

◆ MATERIAL: TIN  PLATED BRASS
◆ UNIT:㎜

 

Ø1
.5

Ø1 3
16

3

HOLE  IN  PCB  Ø1.0

TEST PIN

PART NO PACKAGE
TEST-10 2000

      

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

COPPER 

HOLE  IN  PCB  Ø0.8~Ø0.9

Ø1
.6

Ø1 0.5

0.5

7.4

Ø0
.8

TEST PIN

10-8

10



◆ MATERIAL:TIN  PLATED  BRASS
◆ UNIT:㎜

PART NO PACKAGE
TEST-23 2000

Ø2
.5

Ø1
.6

18
10

HOLE  IN  P.C  BOARD  Ø1.7

◆ MATERIAL:TIN  PLATED  BRASS
◆ UNIT:㎜

PART NO PACKAGE
TEST-12 2000

Ø3

7 Ø0
.6

HOLE  IN  PCB  Ø0.8

TEST PIN

TEST PIN

◆ MATERIAL:GOLD  PLATED  BRASS
◆ UNIT:㎜

PART NO A B C D E PACKAGE
TEST-22 2.2 3.5 7.9 1.0 2.5
TEST-34 1.6 3.8 8.0 0.8 1.6 2000

◆ MATERIAL:TIN  PLATED  BRASS
◆ UNIT:㎜

PART NO A
TEST-24 15.0
TEST-25  6.0

PACKAGE

TEST-26 8.5
TEST-28 10.0

2000Ø2

1
 A

Ø0
.9

HOLE  IN  P.C  BOARD  Ø0.9

ØA

Ø1
.4

0.6 B
C

0.6

D

E HOLE  IN  P.C.B  Ø1.0

 TEST PIN

 TEST PIN

10-9

10



◆ MATERIAL:GOLD  PLATED  BRASS
◆ UNIT:㎜

PART NO PACKAGE
TEST-27 2000

Ø2
.3

11

(17)
0.80.8

22.4Ø1
.5

Ø3
.5

◆ MATERIAL:GOLD  PLATED  BRASS
◆ UNIT:mm

PART NO PACKAGE
TEST-31 2000Ø1

.6
Ø1

.4
Ø1

0.5
0.4
3.6

8.9
4.8

Ø0
.7

 TEST PIN

 TEST PIN

◆ MATERIAL:TIN  PLATED  BRASS
◆ UNIT:㎜

      

PART NO PACKAGE
PIN-1 2000

PIN-2

3
1.

2

0.
6

6.35
11.3

2.1

HOLE  IN  P.C.B  Ø1.2~Ø1.3

4.
2

Ø2.2 1

74

2.
8

HOLE  IN  P.C.B  Ø3.0

PART NO PACKAGE
2000

 PIN TERMINAL

PART NO PACKAGE
    JUMP-10 1000

◆ MATERIAL:COPPER TIN PLATED
◆ PLASTIC MATERIAL :POLYOEFIN (UL)
◆ COLOR:BLACK
◆ UNIT:㎜

    8

    
6

    10
    2-Ø2

JUMPER WIRE 

10-10

10



      

◆ FUC-01 MATERIAL:PHOSPHOR BRONZE
◆ FUC-02  MATERIAL:C2680
◆ FINISH:TIN PLATED
◆ UNIT:mm

◆ MATERIAL:BRASS
◆ FINISH:TIN PLATED
◆ UNIT:mm       

FUC-01 FUC-02

E

F

A

D
C

B

t=0.4 t=0.4

ØG

MOUNTING  HOLE

B

C
D

A

MOUNTING  HOLE

ØGF

E

A

B

C
3.

6

E

D

F ØG

MOUNTING  HOLE

FUSE HOLDER

FUSE HOLDER

ØG

MOUNTING HOLES

1

PART NO A B C D E F G PACKAGE
FUC-01 4.0 7.8 5.2 3.3 3.1 3.8 1.2 Ø3.6
FUC-02 6.4 9.5 6.5 3.5 4.8 5.1 1.3 Ø5.2 1000
FUC-17A 6.3 8.9 5.65 3.5 4.5 4.9 1.1 Ø5.2

MOUNTING HOLES

E

D
C

B

A

ØGF

FUC-17A
t=0.4

FUC-14
DA

B

C

E

F

PART NO A B C D E F G 適用保險絲 PACKAGE
FUC-03 6.8    8.3

5.5
0.4

6.3
6.0 1.4 Ø5.2FUC-03A 6.4    8.8 0.5 6.7

1.7FUC-04 8.1  10.9 6.8 7.0 7.5
10001.7

6.3

0.5

5.5

Ø6.3FUC-14  10.98.1 0.5 7.5 1.77.06.8

◆ MATERIAL:BRASS
◆ FINISH:TIN PLATED
◆ UNIT:㎜

 FUSE HOLDER

PART NO PACKAGE
FUC-5A 1000

MOUNTING HOLES

Ø2.710.2Ø1.70.76.35
10.5

0.3

2.
2

3.
8

2

6.8

10-11

10



PART NO PACKAGE
FUSEC-1 500

      

◆ MATERIAL:NYLON 66 (UL)
◆ FLAME CLASS :94V-2/
◆ COLOR:BLACK
◆ UNIT:㎜

94V-0

22 Ø1.5

MOUNTING  HOLE

9.
8

26.5
1.

8 8.
6

FUSEC-1B
裝配 X20保險絲Ø5

      

PART NO PACKAGE
PCB-2
PCB-2(M4)
PCB-2(6-32

1000

THREAD
M3X0.5
M4X0.7

6-32 UNC

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

8.5
0.8

11.5THREAD

9.3

7.5 Ø1.8X4

7.
8 7

3.
4

11
.2

1.6
55

5

MOUNTING  HOLES

      

PART NO THREAD PACKAGE
PCB-1 M3X0.5
PCB-1(M4) M4X0.7 1000
PCB-1(6-32 6-32 UNC

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

8

5

1.5

8.
4

5

0.8
8

THREAD

4-Ø1.7

7

MOUNTING  HOLES

FUSE HOLDER

PC  P.C.B TERMINAL

PC  P.C.B TERMINAL

             ◆ MATERIAL:PHOSPHOR BROZNE
◆ FINISH:NICKEL PLATED
◆ UNIT:㎜

 FUSE HOLDER

Ø1.8

3

6.5

MOUNTING HOLES

7

4
812

6
7

0.5

PART NO PACKAGE
FUC-09 1000Ø5.2

10-12

10

FUSEC-1E

4.
5

10
.5

適用 5X20保險絲Ø

0.5

9.8

24.8



      

可配合 端子使用

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

2.8
7.2

5.6

5 8.
8

6.
1

3.
5

2.
3Ø4.2

PCB-4CV PCB-4
PART NO B PACKAGE

M3X0.5 3.5
M4X0.7

4.4

PCB-4
PCB-4(M4)
PCB-4(632) 6-32 UNC 1000

A

PCB-21(4.4)

PART NO
PCB-8
PCB-8(M4)
PCB-8(632

TAPPED PACKAGE
M3X0.5

1000M4X0.7
6-32 UNC

11.1
5.55

5

4-Ø1.8
MOUNTING  HOLE

THREAD
4.

6
9.

2

10
.1

5.
2

9.
2

2.
2

1
5

4-1.6

PART NO
PCB-7
PCB-7(M4)
PCB-7(632

TAPPED PACKAGE
M3X0.5

1000M4X0.7
6-32 UNC

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

11.1
5.55

5

4.
6

9.
2

10
.1

8.
5

2.
2

12
.5

4-1.61
5

4-Ø1.8
MOUNTING  HOLE

THREAD

      

11.4
2.0

4.4
4
6

8.
3

0.
8

A B

5.
5

8.
1

5.
1

4.
6

7.5

Ø1.7
MOUNTING  HOLES

PC  P.C.B TERMINAL

PC  P.C.B TERMINAL

PART NO
PCB-9
PCB-9(M4)
PCB-9(632

M3X0.5
1000M4X0.7

6-32 UNC

TAPPED PACKAGE

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

5

8
4

4

5

7.
2

THREAD
4-Ø1.8

MOUNTING  HOLE

3.
6

4.
2

1.
8 6.
8

0.8 4-1.6

PC  P.C.B TERMINAL

10-13

◆ MATERIAL:NYLON 66 (UL)
◆ FLAME CLASS :94V-2
◆ COLOR:BLACK
◆ UNIT:㎜

8

10



PART NO
PCB-11
PCB-11(M4)
PCB-11(632

PACKAGE

1000

TAPPED
M3
M4

6-32 UNC

◆ MATERIAL:TIN PLATED BRASS
◆ SCREW MATERIAL:NICKEL PLATED 
◆ UNIT:㎜

88

5
1.5 0.8

TAPPED

2.
6

8.
4

4-Ø1.75

7

MOUNTING  HOLES

PART NO
PCB-10AB

PACKAGE
1000

TAPPED
M3.5

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

M3.5X0.6P

9.
1

7.
5

7.
1

7.5

5

4-Ø2
MOUNTING  HOLE

7.9

M3.5X0.6P

4
8

0.8

5.
5

5
4-1.5

11
6

4

       

       

FOR  PCB-11(STP
CAN  COOPERATE  SCREW  USE

3.7
0.8 0.

7
7.2

Ø8

4 6
6-32 UNC

PC  P.C.B TERMINAL

 PC P.C.B TERMINAL

PART NO
PCB-12
PCB-12(M4)
PCB-12(632

M3X0.5
1000M4X0.7

6-32 UNC

TAPPED
      (A) PACKAGE

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

7.
5

4.6

4-Ø1.7
MOUNTING  HOLES

11.4
2

7.
5 A

11
8 7.

2 8

8.3

0.8

PC  P.C.B TERMINAL

10-14

10



◆ MATERIAL:TIN PLATED BRASS
◆ SCREW MATERIAL:NICKEL PLATED 
◆ UNIT:㎜

PCB-20(632)F
PART NO PACKAGE

1000
12.9

2.
5

5 1.5 0.8
7.1

8.
8

7.
9

10

6-32x1/4L
CAPTIVATED  SCREW

PC  P.C.B TERMINAL

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

PC  P.C.B TERMINAL

5.55
11.1

4.
6

9.
2

2.
2 A

1 4-C
5

B
10

.1

5

ØD
MOUNTING  HOLESTAPPED

PART NO PACKAGE

1000

A B C D TAPPED
PCB-18
PCB-30(M4)

8.9 7.5 1.6 1.8 M3X0.5
M4X0.72.69.2 5.2 2.2

PART NO PACKAGE
PCB-15(M4) 1000

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

5

4-Ø1.8

12.5

MOUNTING  HOLE
K.Y

M4X0.7

0.8

13.3

11
.5 2

5
10

15

5 5
4-1.5

9

PC  P.C.B TERMINAL

PART NO PACKAGE
PCB-17 1000

PC  P.C.B TERMINAL
◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

1.5
4.5

6
9.

3

1.
9

3 6

7.8
M3X0.5

0.8

4.3
8.6 7

4.
5

Ø1.75
MOUNTING  HOLES

10-15

10



PC  P.C.B TERMINAL
◆ MATERIAL:PHOSPHOR BRONZE 
                         WITH TIN PLATED 
◆ UNIT:㎜

2.5

5.
314

.6

5.6
11.2

15
.6

22
.4

23
.6

2
8.

6
12

.1

1

M5

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

PCB-22(M4) 100
PART NO PACKAGE

              

M4X0.7 TAPPED

6

9.1

9.
1

6

1.2 2

6
15

PC P.C.B TERMINAL

HOLES IN 
P.C.B: 2.5    0.05Ø Ø-+

PART NO PACKAGE
PCB-25(3.2) 1000

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

PC P.C.B TERMINAL

3.
8

7.
6

4.3
8.6

Ø3.2

3

7.9 0.3

10-16

PART NO PACKAGE
PCB-23(M5) 1000

10



PART NO PACKAGE
PCB-26 1000

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

PC  P.C.B TERMINAL

PC  P.C.B TERMINAL

3.91
7.81

4 7.9

M3X0.5

1

0.8
5.5

1.
8

13
.2

0.8

10

1.5
2.5

5

MOUNTING  HOLES
7

2.5

5

Ø1.7

5

10
.3

Ø1.8
MOUNTING  HOLES

5.6
11.1

4.6
9.

2
2 A

0.8

B

4-1.6
5

THREAD
PART NO

PCB-27(M3)
PCB-27(M4)

TAPPED PACKAGE
M3X0.5

1000M4X0.7

A B

PCB-28(M3)
PCB-28(M4)

M3X0.5
M4X0.718.8 14.8

18.8 14.8

16.0 12.0
16.0 12.0

◆ MATERIAL:TIN PLATED BRASS
◆ MATERIAL:NICKEL PLATED BRASS
◆ UNIT:㎜

PC  P.C.B TERMINAL

MOUNTING  HOLES

5.1

7.
5

ØD

4.25
8.5

3.
25

6.5
A B

1

C

1
5.1

M4X0.7

PART NO PACKAGE

1000

A B

2.2 13.0
2.0 8.0

PCB-58(M4)
PCB-37M4

C D

10.0 1.9
5.0 1.7

PC  P.C.B TERMINAL
◆ MATERIAL:NICKEL PLATED BRASS
◆ UNIT:㎜

PART NO PACKAGE
PCB-34 1000

MOUNTING  HOLES
Ø1.7

7.
5

5

Ø2.6
2.2
11.5

6.
7

10.8

5

8.
7

11
.2

5

6.5
8.3

0.8

10-17

10



PART NO PACKAGE
PCB-43(M5)F 1000

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

PC P.C.B TERMINAL

MOUNTING  HOLES

9

9.
3

Ø2

13
10.3

Ø9.6
M5X0.8

8

2.
8

14
.1

1

11.4

1.8
9

10
.1

17
.1

PART NO PACKAGE
PCB-44 1000

MOUNTING  HOLES

Ø1.5

8.7

4.6
9.2

4.
6

9.
2

Ø5

8.
1

0.5 1.2

4.
5

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

PC P.C.B TERMINAL

PART NO PACKAGE
PCB-29 1000

8.7
Ø1.5

MOUNTING  HOLES

2-1.2

Ø5

4.
6

9.
2

4.6
9.2

0.5

11
.1 7.

5

PART NO PACKAGE
PCB-36 1000

◆ MATERIAL:PHOSPHOR BRONZE
                         WITH TIN PLATED
◆ UNIT:㎜

PC  P.C.B TERMINAL

11
22

M5

4.
5

9
2.

5
16

.2

1 6.5

12
.7

217.
05

1.1
MOUNTING  HOLES

◆ MATERIAL:TIN PLATED STEEL
◆ UNIT:㎜

PC  P.C.B TERMINAL

PART NO PACKAGE
PCB-47ST(440) 1000

MOUNTING  HOLES

Ø1.9

5

5.
08

0.8

1.45
9.07

4-40 UNC

6.15

4.
6

1.27
5.08

9.
2

10-18

10



PC  P.C.B TERMINAL
◆ MATERIAL:TIN PLATED SPCC
◆ UNIT:㎜

PART NO PACKAGE
PCB-49(M3) 1000

MOUNTING  HOLES

6.35
Ø1.5

Ø3.3

6.
35

7.35

7.
35

Ø6.35
M3X0.5

2 6
9

1

PART NO PACKAGE
PCB-50M5F 1000

◆ MATERIAL:NICKEL PLATED BRASS
◆ UNIT:㎜

PC P.C.B TERMINAL

12
10

Ø10 M5X0.8

3.
2 13

1.2

8

4

10

MOUNTING  HOLES
THICKNESS  1.6~2.0

1.5
10

4.
2

◆ MATERIAL:BRASS
◆ FINISH:NICKEL PLATED
◆ UNIT:㎜

PC P.C.B TERMINAL

PART NO PACKAGE
PCB-54L(M3) 1000

1.6
5

7 7.
8

11
.2

11.5

7.
7

0.
8

M3X0.5P

PART NO PACKAGE
PCB-54R(M3) 1000

0.
8

11.5

7.
7

M3X0.5P

7 7.
8

11
.2

1.6
5

◆ MATERIAL:BRASS
◆ FINISH:NICKEL PLATED
◆ UNIT:㎜

PART NO PACKAGE
PCB-55(M3) 1000

PC P.C.B TERMINAL

1.6
4.1

7.
1

11
.2

7.
7M3X0.5P

0.
8 7.3

10-19

10



◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

      

PART NO PACKAGE
PCFS250L 1000

TAB SIZE
 0.8X6.35

5 Ø1.5

MOUNTING  HOLE
THICKNESS  0.4

PART NO PACKAGE
PC110 2000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

      

3.
7

TAB  SIZE
8

16
.7

7.5

2.8 0.5
Ø1

5 7.
2

12
.6

3.
6

1.5

4

HOLE  IN  P.C.B  Ø1.7

◆ MATERIAL:  PLATED  BRASS
◆ UNIT:㎜

TIN         

      
7.4 TAB  SIZE

11
6.

63.
6

PCFS2505A 0.5X6.35
TAB SIZEPART NO PACKAGE

1000
PCFS2508A 0.8X6.35

5 Ø2.8

THICKNESS  0.4
MOUNTING  HOLE

PCFS2505 0.5X6.35
TAB SIZEPART NO PACKAGE

1000
PCFS2508 0.8X6.35

7.4 TAB  SIZE

11
6.

63.
6

PC  P.C.B TERMINAL

PC  P.C.B TERMINAL

◆ MATERIAL: TIN PLATED BRASS  
◆ UNIT:㎜

3.66

MOUNTING  HOLE

Ø1.65

              

1.57

2.18

3.96

5
11

.1
8

3.
18

PC  P.C.B TERMINAL

PC  P.C.B TERMINAL

10-20

TAB SIZE

PART NO PACKAGE
PCFS156A 1000

TAB SIZE
 0.5X6.35

10



◆ MATERIAL:
◆ UNIT:㎜

 PLATED  NICKEL  BRASS   

      

PART NO PACKAGE
PC110-1 2000

◆ MATERIAL:TIN PLATED 
◆ UNIT:㎜

BRASS   

PART NO T D PACKAGE
PC110D5 0.5 1.4
PC110D8 0.8 1.5 2000

5 ØD

MOUNTING  HOLES

2.8 T
Ø1

7
4.

1

1.15

14
.2

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

PART NO T D PACKAGE
0.5 1.4

PC187(0.8) 0.8 1.5 2000P   187C

◆ MATERIAL:TIN PLATED 
◆ UNIT:㎜

BRASS

PART NO PACKAGE
PC205 1000

Ø1.55

MOUNTING  HOLE

      

      

      

5 ØD

MOUNTING  HOLES

T4.8
Ø1.4

13
6.

6
3.

4

0.82.8

2.5

3.75 2.
1 7

9.
1

13
.1

Ø1.4

5.2 0.8

6.
1

3.
9

13
.8

Ø1.8

PC  P.C.B TERMINAL

PC  P.C.B TERMINAL

PC  P.C.B TERMINAL

PC  P.C.B TERMINAL

10-21

10

2.5 Ø1.4

MOUNTING  HOLES



      

PART NO PACKAGE
PC250 1000

      

◆ MATERIAL: TIN PLATED BRASS
◆ UNIT:㎜

PART NO PACKAGE
PC250-4 1000

◆ MATERIAL:
◆ UNIT:㎜

 NICKEL PLATED   BRASS   

MOUNTING  HOLE

56.35 0.8

4
8

16
.1

8.2

5.08

MOUNTING  HOLE

Ø1.5

◆ MATERIAL: TIN PLATED BRASS
◆ UNIT:㎜

PART NO PACKAGE
PC250-11 1000

      

Ø1.3

5.1
MOUNTING  HOLE

0.86.4

4.
5

13
.1 31

Ø1.8

7.
9

3.
2

3

1.27
7.9 3.

8

Ø1.7

6.35 0.81

25
.1

719
.0

5
3.

81
4.

52

1.27

Ø1.78

PC  P.C.B TERMINAL

PC  P.C.B TERMINAL

PC  P.C.B TERMINAL

10-22

             
零件墊座 PARTS  HOUSING

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

PART NO PACKAGE
PC250-8 1000

PC  P.C.B TERMINAL

Ø1.3

MOUNTING HOLES

5.08

0.816.35

4.
52

7.
92

14
.0

2

3.
81

Ø1.78

1.27
7.92

10



      

PART NO PACKAGE
PCF250 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

Ø1.55

MOUNTING  HOLE

       

      

PART NO PACKAGE
PCFL250 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

5 Ø1.5

MOUNTING  HOLE

0.8
16

Ø2

12
.1

3

6.
35

0.8
20

7.8

Ø1.7

6.
35

3.
8

12
.7

PC  P.C.B TERMINAL

PC  P.C.B TERMINAL

10-23

      

PART NO PACKAGE
PCRL250 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 
t=0.8

1.2
8.5

Ø1.5

14
.1

1.
8

3.
6

6

PC  P.C.B TERMINAL

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS      

      

   

PART NO T PACKAGE
PCF110 0.5
PCF1108 0.8 1000

      

PART NO T PACKAGE
PCF187(5) 0.5
PCF187 0.8 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS

T

13.3
7
2.12.

8

11
.1

3.
8

1.3
5

5 Ø1.5

MOUNTING  HOLES

5 Ø1.5

MOUNTING  HOLE

13.4
3.3 Ø1.4

1.3

9.
9

3

4.
8

5

T

PC  P.C.B TERMINAL

PC  P.C.B TERMINAL

10

MOUNTING  HOLES

5 Ø1.5



◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

PART NO PACKAGE
PCH250 1000

      

6.35
Ø1.7

1.25
5

8.53.
4

0.
8

8
3.

4
14

.5 5 Ø1.5

MOUNTING  HOLE

PC  P.C.B TERMINAL

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

      

PART NO A
PCR187 0.5
PCR187(0.8) 0.8

PACKAGE
1000

A
7

4.8

Ø1.4

3.4

1.2

6.6
3

13

5 Ø1.4

MOUNTING  HOLES

PC  P.C.B TERMINAL

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

6.35
Ø1.7

2.9
8.7 0.

8
3.9

8
14

.7

4.
4

4

MOUNTING  HOLE

1

      

PCK250
PART NO PACKAGE

1000

PC  P.C.B TERMINAL

10-24

◆ MATERIAL: BRASS
◆ UNIT:㎜

TIN PLATED 

PART NO PACKAGE
PCF250-7 500

100
15

4.5 0.8

1.3

6.
4

5
PITCH

7.95
PITCH

13.28

5 Ø1.5

MOUNTING  HOLES

4.
8

7.
1

9.
9

PC  P.C.B TERMINAL

10



      

PART NO PACKAGE
PCRS205 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

0.8

13
.8

6.
1

3.
9

5.2
Ø1.8 5 Ø1.5

MOUNTING  HOLE

PC  P.C.B TERMINAL

      

PART NO PACKAGE
PCRS187A 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

7.92
4.75

Ø1.4

3.
18

3.
81 14

.2
2

2.
29

1.27

t=0.8 5.08

Ø1.5
MOUNTING  HOLES

PC  P.C.B TERMINAL

PCR250

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

5 Ø1.5

MOUNTING  HOLE

0.86.35

Ø1.5

11.5

8
16

.1
4 PART NO PACKAGE

1000

PC  P.C.B TERMINAL

◆ MATERIAL:TIN 
◆ UNIT:㎜

PLATED BRASS

PART NO PACKAGE
PCR250-S 1000

      
10.5
6.3

1.2

7.
64

4

13
.7

0.8
5 Ø1.5

MOUNTING  HOLES

PC  P.C.B TERMINAL

10-25

10



PART NO PACKAGE
PCRN250 1000

      

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

4.8 1

MOUNTING  HOLE

8
6.4 t=0.8

Ø1.7

4.75
10.6 3.4

1

12
.6

11
.6 4.
6

3.
6

PC  P.C.B TERMINAL

PART NO PACKAGE
PCRS250-1 1000

      

◆ MATERIAL: FOG TIN PLATED 
◆ UNIT:㎜

BRASS 

0.8
8.8
6.3

Ø1.6
8.

2
4

16
.2

1.25

5
Ø1.5

MOUNTING  HOLES

PC  P.C.B TERMINAL

PART NO PACKAGE
PCRS250 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

6.35

Ø1.8

8.3 3.
5

8
14

0.8 5 Ø1.5

MOUNTING  HOLE

      

PC  P.C.B TERMINAL

      

PART NO PACKAGE
PCTL-3.5 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

7.5
Ø3.3

2.7 0.5
8

5

2.
7

7

0.8

PC  P.C.B TERMINAL

10-26

10

2.7 2.1



      

      

PART NO PACKAGE
PCU250 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

8.6
0.8

5.08

8.7
6.3

7.62

3.
5 4.
5

2
8

4

14
.5

5.
08

4-Ø1.4

Ø2.5
MOUNTING  HOLES

PC  P.C.B TERMINAL

◆ MATERIAL:TIN 
◆ UNIT:㎜

PLATED BRASS

PART NO A
PCLT-10 10.0
PCLT-11 11.0

1000

PACKAGEB
  3.0
  4.0

      

8
1

1
3

3 3

3
A

B

31 1

1

4
5

34

4-Ø1.6

MOUNTING  HOLE

PC  P.C.B TERMINAL

      

PART NO PACKAGE
PC12250 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

8.1
6.3

4.
2

30
.7Ø4.3

2-Ø1.8

8.
4

0.8

PC  P.C.B TERMINAL

      

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

PART NO D
     PC11250 4.3
     PC1125003 3.2
     PC1125035 3.5
     PC1125005 5.3

1000

PACKAGE

     0.8    6.35

    ØD

    8

    Ø1.7

    
8.

4

    
15

    
19

.2

PC  P.C.B TERMINAL

10-27

10



      

PART NO PACKAGE
PC1L250-1A 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

Ø1.8

6.3

1

4.
5

2.
5

3
4.

5

10.8

0.8

8.
3

Ø1.55

MOUNTING  HOLES

PC  P.C.B TERMINAL

      

PART NO PACKAGE
PC1L187 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

Ø1.4

4.8 3.
2

6.
2

7.6

3.4

Ø3.7
7.8

9

0.5

PC  P.C.B TERMINAL

      

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

PART NO
     PC1V187
     PC1V18704
     PC1V18705

A
3.5
4.3
5.3

PACKAGE

1000

     3.3      ØA

    
4.

8

    
7.

6

     7.5

     
Ø1.4

     
6.5     

8      45ْ

    
0.

5

PC  P.C.B TERMINAL

◆ MATERIAL:TIN PLATED 
◆ UNIT:㎜

BRASS 

PART NO D PACKAGE
4.3

PC1L25005 5.3 1000

      4.15
ØD

8.1

8.
1

Ø1.7

8.311

45ْ0.
8

6.
3

PC1L250

PC  P.C.B TERMINAL

10-28

10



      

PART NO PACKAGE
PC3L18704 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

Ø4
.3

Ø1.4

7.
8

4.8

6.
3

9

7.6

0.5

PC  P.C.B TERMINAL

      

PART NO PACKAGE
PC2L250 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

45ْ

8.
1

7.6

6.4

Ø4.3

11 0.8

Ø1.8

PC  P.C.B TERMINAL

◆ MATERIAL:TIN PLATED 
◆ UNIT:㎜

BRASS 

PART NO PACKAGE
PC2L25005 1000

2-Ø1.8

Ø5.3

8.
2

8.5

t=0.845ْ

TAB  SIZE:  0.8X6.35

9.3

6.
4

PC  P.C.B TERMINAL

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS

      

PART NO PACKAGE
PC2L250-90 1000

0.8 6.4

8.2Ø4.3

Ø1.8

9

4.1
8.

4
12

.3

PC  P.C.B TERMINAL

      

10-29

10



      

PART NO PACKAGE
PC3L110028 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

      

PART NO PACKAGE
PC3L25004 1000

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

Ø2.5

3.
66.

8

2.8

7 1.
5

8.
5

4.6

0.8

Ø1
.2

Ø4.3
7.

8

8

6.35

8 4.
5

11
3.

95

Ø1
.7

0.8

PC  P.C.B TERMINAL

PC  P.C.B TERMINAL

◆ MATERIAL:NICKEL PLATED BRONZE
◆ UNIT:㎜

PART NO PACKAGE
PCB-41A 1000

Ø1.8

12.3
MOUNTING  HOLES

4
8

4
8

12.6

1.
6

Ø4

0.
6

4

0.3

      

 GROUND TERMINAL

PART NO A B C D PACKAGE
GND-1 3.2 1.6 5.5 14.3
GND-3A 4.1 2.4 6.5 15.5 2000

◆ MATERIAL: NICKEL PLATED 
◆ UNIT:㎜

BRASS 

      

D
10

ØA ØB

ØC

0.
2

 GROUND TERMINAL

10-30

10



◆ MATERIAL: NICKEL PLATED 
◆ UNIT:㎜

BRASS 

ØA
ØB

D

ØC E
F

PART NO A B C D E F PACKAGE
GND-2 3.2 2.1    6.4 12.6 4.0 0.25
GND-3 4.3 2.0    8.0 17.7 4.6
GND-4 5.2 2.1    9.9 19.6 5.1 0.3
GND-5 8.3 1.9  10.0 15.0 4.0
GND-6 9.7 2.0  13.0 21.5 0.4
GND-10 6.3 2.1  10.0 19.9 5.1

0.3
2000

GND-11 9.0 2.0 13.0 30.0 4.0 1000

2000

1000

GND-17 4.2 1.6 6.8 12.9 3.2
0.4GND-21 3.7 6.3 12.6 20001.6 3.2

4.0

GND-41 3.2 4.5 12.61.5 3.0 0.25
GND-42 2.2 4.5 12.61.5 3.0 0.25

 GROUND TERMINAL

PART NO PACKAGE
GND-7 1000

◆ MATERIAL:PHOSPHOR BRONZE
                         WITH NICKEL PLATED
◆ UNIT:㎜

      

◆ MATERIAL:PHOSPHOR BRONZE
                         WITH NICKEL PLATED
◆ UNIT:㎜

      

PART NO PACKAGE
GND-8 1000

9.3
5.5

1.1

1.9

0.5

1.
7 Ø4.4

MOUNTING  HOLES

3.
3

2.
8Ø4.2

Ø8

0.3

10

Ø4.2

Ø8

2.
8

3.
512.5

0.
3

Ø4.4 1.2

8 2.
4

MOUNTING  HOLES

 GROUND TERMINAL

 GROUND TERMINAL

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

PART NO PACKAGE
GND-12 1000

      
Ø4.6

Ø3.8 Ø5

7

4.
248

0.
4

4.
8

1.
810.8

1

MOUNTING  HOLES

 GROUND TERMINAL

10-31

10



◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS 

      

PART NO PACKAGE
GND-13 1000

◆ MATERIAL: NICKEL  PLATED  BRASS
◆ UNIT:㎜

      

PART NO PACKAGE
GND-14 1000

◆ MATERIAL: BRASS
◆ UNIT:㎜

TIN PLATED 

PART NO PACKAGE
GND-15 2000

1.1

1.
9

R0.75.5

Ø4.4

MOUNTING  HOLES

2.
82

Ø8

Ø4.2

0.96

3.
3

0.
3

10.05

Ø7

Ø3.5
t=0.5

7.
85 5.

1

Ø4

4.
6

2.6

2.7

1.5

0.
7

0.
7

4.
9

7.
6

MOUNTING  HOLE

Ø4.2 Ø4.2

Ø7.5 t=0.4

5.4 3.
5

1.
4

11
.8

7.
44.

3

5Ø1.6

Ø1.2

MOUNTING  HOLE

GROUND  TERMINAL 

GROUND  TERMINAL 

GROUND  TERMINAL 

◆ MATERIAL:PHOSPHOR  BRONZE
                        TIN  PLATED
◆ UNIT:㎜   

      

PART NO PACKAGE
GND-19A 1000

Ø4.2Ø8

2.
81.

5

t=0.3

10.5

1.0

1.
8

1.
7

Ø4.4

0.5

5.5
9.8

1.1

1.
9

MOUNTING  HOLES

GROUND  TERMINAL 

10-32

10



◆ MATERIAL:PHOSPHOR  BRONZE
                        NICKEL  PLATED 
◆ UNIT:㎜

PART NO PACKAGE
GND-20 2000

◆ MATERIAL:TIN BRASS
◆ UNIT:㎜

 PLATED 

PART NO PACKAGE
GND-23 2000

Ø5
Ø5.2

1

12.5

Ø8

t=
0.

3

3.5
2.

8

1.2 2.
4

8
MOUNTING  HOLES

t=0.5Ø7
Ø3.5

0.
7 7.

6
Ø4

2.7
MOUNTING  HOLES

7.
85

4.
6

2.6

GROUND  TERMINAL 

GROUND  TERMINAL 

PART NO PACKAGE
    GND-27 1000

◆ MATERIAL:
◆ UNIT:㎜

NICKEL PLATED BRASS

Ø3.2
Ø7.6

5.
64

11

6

0.5

4

PART NO PACKAGE
    GND-48 1000

    Ø7.6

    
11

    6.4

    
5

    
14

.8

    0.5

    4.5

Ø3.2

GROUND  TERMINAL 

◆ MATERIAL:TIN BRASS
◆ UNIT:㎜

 PLATED 

PART NO PACKAGE
GND-24 2000

      

21.5

12 2

t=
0.

3

Ø2

Ø12

Ø15

4

10.64

GROUND TERMINAL 

10-33

10



PART NO PACKAGE
    GND-36 1000

◆ MATERIAL:
◆ UNIT:㎜

NICKEL PLATED BRASS

◆ MATERIAL: NICKEL PLATED BRASS
◆ UNIT:㎜

PART NO PACKAGE
GND-37 1000

    
Ø8     
5

    12.5

    6

    
0.3

    
3.5

    
2.8

    
3.4    K   37    Y

    
5

    6

    8

    
3.7

    1.3

              

    
3.5

    12.5    
0.3

    5

    
2.8

    
3.4    
6

    
Ø8     K   36    Y

    MOUNTING  HOLES

    5

    
6

    
3.7

    1.3

    8

GROUND  TERMINAL 

GROUND  TERMINAL 

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

BRASS / SPTE 

      

A 0.
8

0.
7

3.4 1.7

Ø7.5

Ø4.5
t=0.3

GND-51

PART NO PACKAGEA

7.6
GND-32 10007.9

GROUND  TERMINAL 

◆ MATERIAL: BRASS
◆ UNIT:㎜

TIN PLATED  

PART NO PACKAGE
GND-35 2000

5.
1

MOUNTING  HOLE

t=0.5

1.5

2.7

7.
85

4.
6

2.6
4.

9
7.

60.
7

0.
7

Ø7

Ø4.5

Ø4.5

GROUND  TERMINAL 

10-34

10



◆ MATERIAL: NICKEL PLATED BRASS
◆ UNIT:㎜

      

PART NO PACKAGE
GND-39 1000

    Ø7
    Ø4.5

    t=0.5

    
7.8

5

    
3.3

    2.5

    
5.1

5

    Ø5

    
0.7

    
0.7

    
4.9

    
7.6

    1.6

    2.6

GROUND  TERMINAL 

PART NO PACKAGE
GND-34 1000

6.8

3.
5

3.5 0.3

0.7

5
15

◆ MATERIAL:TIN BRASS
◆ UNIT:㎜

 PLATED 

      

2.5

GROUND  TERMINAL 

◆ MATERIAL: PHOSPHOR BRONZE  
                         TIN PLATED
◆ UNIT:㎜

PART NO PACKAGE
GND-44 1000

4

3.8
12.5

8 2

Ø4.5

0.3

PART NO PACKAGE
GND-54 1000

Ø8
.2

Ø1
5

Ø1.7

6.
35 8.
2

16.73

16.35

0.8

◆ MATERIAL: TIN PLATED BRASS
◆ UNIT:㎜

◆ MATERIAL: TIN PLATED SPCC
◆ UNIT:㎜

PART NO PACKAGE
GND-56A 1000

Ø4.5
Ø12

1.
8

0.5

3.
1

13.2

PART NO PACKAGE
GND-52 1000

Ø6.6
Ø12

5.1

8.
4

1

4

1.
2

Ø6.8

7.
9

5.3
MOUNTING HOLE

◆ MATERIAL: PHOSPHOR BRONZE  
                          NICKEL PLATED
◆ UNIT:㎜

PART NO PACKAGE
GND-49 1000

1.5

Ø3.5

Ø5.9

0.
3

Ø3.3

3.3

9.
6 6.

5
R0.25

0.
5

1.3
1.8

MOUNTING HOLE

◆ MATERIAL: PHOSPHOR BRONZE  
                         TIN PLATED
◆ UNIT:㎜

GROUND  TERMINAL 

10-35

10



◆ MATERIAL: TIN PLATED BRASS
◆ UNIT:㎜

PART NO PACKAGE
GND-50 1000

◆ MATERIAL: TIN PLATED SPTE
◆ UNIT:㎜

6
8

0.5

5

11
.3

4.
5

2.45

6

5
0.

7
0.

7 2.6
1.7

4.9
7.

55

MOUNTING HOLE

PART NO PACKAGE
GND-55 1000

Ø5.5
Ø7

0.5

16
.2

4

2.4
MOUNTING HOLE

Ø6

7.
75

12
.4

5

2

0.
7

2.6

0.
7

◆ MATERIAL:SPTE
◆ UNIT:㎜             

      

PART NO A B
KMCC-1 18.55 6.0
KMCC-2 19.6 8.0

PACKAGE
500

24

t=0.5

ØB
6.1 10

17
12

4.5

A

10 12 17

◆ MATERIAL:STAINLESS
◆ UNIT:㎜

PART NO A B C PACKAGE
KTCC-3

17.20 17.60
3.0

KTCC-6 18.70 19.80 6.4
1000KTCC-5 17.90 18.70 4.8

KTCC-9 18.65 20.62 9.0

KTCC-4 4.0

t=
0.

3
8.

6
4.

5

C(CLOSE)

Ø4.5

A

B 6

            

      

GROUND  TERMINAL 

GROUNDING CABLE CLAMP

GROUNDING CABLE CLAMP

10-36

              
              

◆ MATERIAL:TIN PLATED BRASS
◆ UNIT:㎜

GROUND TERMINAL

PART NO PACKAGE
GND-67 10002

Ø3.5
Ø6

0.5

3.5

10

10



◆ MATERIAL:SUS301
◆ UNIT:㎜

PART NO PACKAGE
TRMC-1 1000

      

◆ MATERIAL:SUS301
◆ UNIT:㎜

PART NO PACKAGE
TRMC-2 1000

◆ MATERIAL:SUS301
◆ UNIT:㎜

PART NO PACKAGE
TRMC-5 1000

7.
8

7.
5

0.
4

3.9

15

3.
1

0.
4

Ø2.2

3.5
14.3

6.
4

7.
8

3.5

4.
515
°

13.4
7.5

14.3

3.
7

0.
3

Ø2.2

7.
8

◆ MATERIAL:SUS301
◆ UNIT:㎜

PART NO PACKAGE
TRMC-6 1000

0.5
10.3

10
t=

0.
4

7.
2

8.1
13.7

5.
1

1
3.80.5

      

      

      

TR. CLAMP

TR. CLAMP

TR. CLAMP

TR. CLAMP

10-37

10



◆ MATERIAL:SUS301
◆ UNIT:㎜

PART NO PACKAGE
TRMC-8 1000

      

◆ MATERIAL:SUS301
◆ UNIT:㎜

      

PART NO PACKAGE
TRMC-9 1000

K.
Y

6.4

20

Ø2.3

5.15

7.
8

20.2

3.
6 5.
26.
6

t=
0.

4

3.15t=0.4

2.18
16.32

5.4
5

7.
43 7.
14

4.
51

PART NO PACKAGE
TRMC-17 1000

5.
8

5.
6

3.
06

t=
0.

32.512.5

Ø2.4

PART NO PACKAGE
TRMC-30 1000

Ø2.4

5.
8

6.
6

2.512.5

3.
6

0.
3

TR.CLAMP

TR. CLAMP

◆ MATERIAL: TIN PLATED 
◆ UNIT:㎜

SPCC

PART NO PACKAGE
TRMC-10 1000

      

2.5

4.95.9

9.
6

t=0.5 1.7

4
5.

5

 CLAMP

10-38

10



◆ MATERIAL:TIN PLATED PHOSPHOR 
◆ UNIT:㎜

PART NO PACKAGE
TRMC-11 1000

    

◆ MATERIAL:SUS301
◆ UNIT:㎜

PART NO PACKAGE
TRMC-12 1000

D用途:做為彈片使用，彈性佳

      

。

10.8

1
2

Ø1

3
8.

5
2.

5

120°
t=0.15

2.
65

7
3.5

0.6
Ø2.8

22
.7

2
13 2.
42

10 1.
92

2.5
7.5

0.5

 CLAMP

 CLAMP

◆ MATERIAL: SK7  
◆ FINISH:COATING-ZI
◆ UNIT:㎜

PART NO PACKAGE
TRMC-68 1000

Ø3.3

9

6

0.
3

1.
6

38°

PART NO PACKAGE
TRMC-53 1000

◆ MATERIAL: TIN PLATED BRASS  
◆ UNIT:㎜

4

0.
9

15
.5

1
3.9

2.5

CLAMP  

10-39

10



◆ MATERIAL: SUS301  
◆ UNIT:㎜

Ø2.4 2.5

0.
3 1.
2

A

5

12.5

5.
8

PART NO PACKAGEA
TRMC-23 10004.85

8

0.
3

3.
76.

3

Ø2.4 3

5.
8

10

PART NO PACKAGE
TRMC-20 1000

PART NO PACKAGE
TRMC-26 1000

5.
8

Ø2.4 2.5

11.5

7.53

6.
39

0.
3

3.
95

PART NO PACKAGE
TRMC-34 1000

14
3□

Ø2.4 3

8

14 0.
4

3.
8

13.6

7.
3

12

8.
8

0.
5 5.
5

15

8
PART NO PACKAGE
TRMC-7 1000

7.
6 1.
2

0.
4

4.
1

1.6

14.2

8

PART NO PACKAGE
TRMC-35 1000

PART NO PACKAGE
TRMC-40 1000

14.2

8

Ø2.5 3.2

6.
3

0.
4

3.
5

11.7

PART NO PACKAGE
TRMC-49 1000

5.
8

9

5.
8

11.5

0.
9

1.
2

0.
3

3.
06

PART NO PACKAGE
TRMC-61 1000

2.5Ø2.4

0.
3 4.
57.

6

7.2

5.
8

12.5

PART NO PACKAGE
TRMC-59 1000

6.
3

Ø2.5

6.7

0.
4

3.
5

14.2

8

TR. CLAMP

C
0.

3

A

B 1.
1

E

8

DØ1.5

PART NO A B
8.0

PACKAGE
TRMC-76
TRMC-77
TRMC-78

C D E

10006.9
6.9

6.1
7.5
8.5

3.5
4.5
5.8

3.5
4.0
4.0

13.0
11.0
11.0

10-40

10



      

◆ MATERIAL: SUS  304
◆ COLOR:SILVER
◆ UNIT:㎜

15.6

9
3

3.5

12
.8

0.3

11.5
2.5 1.8

4

MOUNTING  HOLE

TR.SHEET CLAMP

PART NO PACKAGE
TRK-1 250

◆ MATERIAL: ZINC PLATED STEEL
◆ UNIT:㎜

 

PART NO PACKAGE
TRK-2 250

5 Ø3.2

12 6

26
17.6

t=
1.

6
6.

5 10
°

12

M3X0.5

PART NO PACKAGE
TO-220ST 1000

5

6
t=

1.
6

6.
5

26
17.6

10
°

      

 POWER TRANSISTOR CLAMP DEPRESSOR

PART NO PACKAGE
TRK-6 1000

◆ MATERIAL: STAINLESS-430
◆ UNIT:㎜

 

3.5

Ø3.5
27.3

19.64.
63

t=
0.

3
4

8

8

2.
8

      

 POWER TRANSISTOR CLAMP DEPRESSOR

10-41

◆ MATERIAL:STEEL
◆ UNIT:㎜

PART NO PACKAGE
TRK-8 500

PART NO PACKAGE
TRK-9 500

Ø3.2

30.7

2
2.

6
8.

2

30.7

2
2.

6M3X0.5

8.
2

      

 POWER TRANSISTOR CLAMP DEPRESSOR

10



◆ MATERIAL:STEEL
◆ UNIT:㎜

      
24.2

TAPPED

6
1.6

5.5

6.3
18

t=0
.5 PART NO

TRK-10(M4)

TAPPED
M3X0.5

  M4X0.8

PACKAGE

1000
6-32 UNCTRK-10(632)

TRK-10

◆ MATERIAL:ZINC PLATED SPCC
◆ UNIT:㎜

      

PART NO PACKAGE
TRK-11 500

7.4

M3X0.5

27

18
.5 23

 POWER TRANSISTOR CLAMP DEPRESSOR

 POWER TRANSISTOR CLAMP DEPRESSOR

10-42

◆ MATERIAL: ZINC PLATED K5  
◆ UNIT:㎜

PART NO PACKAGE
TRK-12 1000

8

Ø3.5

10

21.32

1
3

 POWER TRANSISTOR CLAMP DEPRESSOR

◆ MATERIAL:NYLON 66 (UL) 94V-2
◆ METAL MATERIAL:SUS
◆ COLOR:BLACK
◆ UNIT:㎜

      

PART NO PACKAGE
TRK-16F 1000

    M3X0.5P

    7.8
    25.2

    
8.4

    2.8

       DEPRESSOR

10



◆ MATERIAL:NYLON 66 (UL)94V-2
◆ METAL MATERIAL:SUS
◆ COLOR:BLACK
◆ UNIT:㎜

      

PART NO PACKAGE
TRK-17AF 1000

    2.8

    
9.7

    M3X0.5P

    9.68
    17.9

       DEPRESSOR

10-43

4.4

8.
5

M3X0.5 TAPPING

2.9
24.8

0.
5

5.
7

PART NO PACKAGE
TRK-22 1000

◆ MATERIAL: SUS301  
◆ UNIT:㎜

 POWER TRANSISTOR CLAMP DEPRESSOR

◆ MATERIAL: SUS  
◆ UNIT:㎜

PART NO PACKAGE
TRK-24 2000

Ø3.22.8

6.
35

3.
18

12.33

6

0.
4

2.
4

      

 POWER TRANSISTOR CLAMP DEPRESSOR

◆ GEAR MATERIAL:POM (UL)
◆ BODY MATERIAL:ABS (UL)94HB
◆ COLOR:BLACK
◆ UNIT:㎜

94HB

      

PART NO PACKAGE
DP002A 500

MODULE         0.7
PITCH CIRCLE DIAMETER

TOOTH NUMBER         13
PRESSURE ANGLE         20º

        Ø9.1

14.8
7.9

164.2

Ø1
0.

5
Ø1

4 3
10 18

.8

PLASTIC GEAR

10



10-44

◆ GEAR MATERIAL:POM (UL)
◆ BODY MATERIAL:ABS (UL)94HB
◆ COLOR:BLACK
◆ UNIT:㎜

94HB

PART NO PACKAGE
DP003A 500

MODULE         0.8
PITCH CIRCLE DIAMETER

TOOTH NUMBER         11
PRESSURE ANGLE         20°

        Ø8.8

◆ GEAR MATERIAL:POM (UL)
◆ BODY MATERIAL:PC
◆ COLOR:BLACK
◆ UNIT:㎜

94HB

PART NO PACKAGE
DP004A 500

MODULE         0.8
PITCH CIRCLE DIAMETER

TOOTH NUMBER         13
PRESSURE ANGLE         20°

        Ø10.4

      

      

15.8
3

15Ø1
0.

4

Ø15.1

21.8
8.9

3.1

Ø1
3.

2

4.6
Ø3.2

9

PLASTIC GEAR

◆ GEAR MATERIAL:POM (UL)
◆ BODY MATERIAL:ABS (UL)94HB
◆ COLOR:BLACK
◆ UNIT:㎜

94HB

      

PART NO PACKAGE
DP006A 500

MODULE         0.6
PITCH CIRCLE DIAMETER

TOOTH NUMBER         11
PRESSURE ANGLE         20°

        Ø6.6

16.4

13.8

Ø2.1

5 Ø1
0

R1.05

5
1.

5

 PLASTIC GEAR

◆ GEAR MATERIAL:POM (UL)
◆ BODY MATERIAL:ABS (UL)94HB
◆ COLOR:BLACK
◆ UNIT:㎜

94HB

      

PART NO PACKAGE
DP007A 500

MODULE         0.8

TOOTH NUMBER         13
PRESSURE ANGLE         20°

        Ø10.4PITCH CIRCLE DIAMETER

16 Ø14.9

6.
9

3

12
.1

3
3.

6

1.
8

3.
8

6.
1

19.7
21.5

 PLASTIC GEAR

10

PLASTIC GEAR



10-45

PART NO PACKAGE
DP008A 500

MODULE         0.8
PITCH CIRCLE DIAMETER

TOOTH NUMBER         13
PRESSURE ANGLE         20°

        Ø10.4

      

◆ GEAR MATERIAL:POM (UL)
◆ BODY MATERIAL:ABS (UL)94HB
◆ COLOR:BLACK
◆ UNIT:㎜

94HB

      

PACKAGEPART NO
DP009A 500

MODULE         0.8
PITCH CIRCLE DIAMETER

TOOTH NUMBER         13
PRESSURE ANGLE         20°

        Ø10.4

◆ GEAR MATERIAL:POM (UL)
◆ SEAT MATERIAL:NYLON 66 (UL)94V-2
◆ COLOR:BLACK
◆ UNIT:㎜

94HB

8.85
2.6

1.95 4

Ø1
2

Ø1
3.

8

19

16

2.5
Ø14.9 Ø2

19
24

2

6.
9

3 1.8 7.
83.

6

 PLASTIC GEAR

 PLASTIC GEAR

             

PART NO PACKAGE
DP013A 500

◆ GEAR MATERIAL:POM (UL) 94HB
◆ BODY MATERIAL:PC (UL) 94V-2
◆ COLOR:BLACK
◆ UNIT:㎜

 PLASTIC GEAR

Ø10.35

9.
8

7.
9

21
.7

Ø3.2
9

4.
4

3
13

.8

2.5

MODULE         0.5

TOOTH NUMBER         12
PRESSURE ANGLE         20°

        Ø6.0PITCH CIRCLE DIAMETER

◆ GEAR MATERIAL:POM(UL)94HB
◆ BODY MATERIAL:ABS (UL)94HB
◆ COLOR:BLACK
◆ UNIT

      

PART NO PACKAGE
DP010A 500

MODULE         1.0
PITCH CIRCLE DIAMETER

TOOTH NUMBER         12
PRESSURE ANGLE         20°

        Ø12.0

    40

    50

    
24

.4
    

2
    

18

PLASTIC GEAR

10


	10-01
	10-02
	10-03
	10-04
	10-05
	10-06
	10-07
	10-08
	10-09
	10-10
	10-11
	10-12
	10-13
	10-14
	10-15
	10-16
	10-17
	10-18
	10-19
	10-20
	10-21
	10-22
	10-23
	10-24
	10-25
	10-26
	10-27
	10-28
	10-29
	10-30
	10-31
	10-32
	10-33
	10-34
	10-35
	10-36
	10-37
	10-38
	10-39
	10-40
	10-41
	10-42
	10-43
	10-44
	10-45



